


G

179

183 - 188

180

  

   182

184 - 187

188

188

189 - 194    

190 - 193

194

194

183Overview

189Overview

194Or er e re i er e e

195 - 198   

196 - 197

198

198

e i i e i

Or er e O i e i er

Or er e i er e e

195Overview

199 - 202  

200 - 201

201

201

e i i e i

Or er e i er

Or er e i er e e

199Overview

202        

204 - 205  

204 -205

205

e i i e i

Or er e O i e i er

204Overview

STAUFF System 181



180 www e

G

e i i

e  y ss F te s

t es t

O i e i er e re e i e ee r i ri i
e ree r i e w er i i O i i i e e

e e r e re v i i r r i ri i
e e i ir re er w i e r e ir e eri e re erv ir re

r i i i re v e

e wi r vi e i e e i e r i i e r i
ri i e

re e w i ir i
reve i e r i r i r i ire i

re e e i e e i r i e ie ß ß
e i e e e i

er e i e r i e

te

i i e i i v i e wi e w r r er i
i w i ere e

s  ess e

r

System Volume

o e t o s

i i wi e i

e e t l essu e

r

Tem e tu e

e i e er re

e  om t l ty

i er ri i i er re e

t o s  A esso es

lo  to s

i i i r

Ty e S

O i e i er e wi i er r e r i
v i e i e i e r i ri i i

Ty e S

er r i er e e e wi r e
w er i i

Ty e S

re e i i e re e e ie er e e e
re e w i

Ty e S V

e i e i ri i i i e r e e
e i ri i r i r r er

wi i
ie w er r i e re v
e v e

e ir i w r e r
re re r

e i i i e
e e i i
i i i e rr i
e e i re w i e
e e er i

Ty e S

er i re e e i e i e r i e
i i i r i r r i i e
e i r i i re ire



www e

G

181

o F lt t o

e e r e O i e i er i i e i e i r i er e e e  
i  i er i  e i e  wi   r i  w  

e e e e  i  r e  wi   i r  e i   i  ere re e  re ve e 
e  r i e  i  r  e i

e i er eri  i  e  ri ri   e e  w i  i  ie    e i  wr i  
e   i re  w er r i  e e e  wi    re v i e  re e

e e e eri  i  e  re i i  i  r i e   r i  w er  
i  e   reve  e i  e eri r i   e i   e r i   v ri  i   

e

r i  i er e e i  r e e   r w ir  i  i i  r i e   w er 
v r i  e i  re erv ir  

e w er v r e e  e  e er re e   e    i i   e 
i     e   eri  e i  we r i  e e

A  o t o

r  ir i er  re ve  er i    i  r i e i i  r  e ir  
w w er v r    r

e  ir i i er  e    e re  i i  ir i  ir  rie   
e  i ere  e    i   e e  i  i  wi  e O     

e  i  r er  r vi e  re e e i eri  e  ee e     
 r i  e rie  r re e i

A t es

 e  i i
 r e i   e e ive i  re  i er
 e  re e  i  e
 e e  e i e  e i
 e  i e w i e

te st s

  i er i e e    i r  ß    ß   
 r e r i e e i  i
 i  i r i  i  e  e  e e
 r e w er r i  i
   ver e  e  vi i  r i ive
   re ve i ive
 e e e i i  r e
 e e e r i   i
 i  w  e ri  i  r r i e er r i  i
 ve 

System o t m t o

  r i  r e  i  i   e e    i i  e      
e i  i re  i  i i  re  r  e re e e  i  r i e    
e    r er

e  i  e er re e w er v r  e e  re i  i  w e  w er i  e 
i  e re e e  i  w er e er e  e e eri r i   e i  

i re  i er  re i e  re vi  r i e  er   i r  e er w  
 i  i  i  re re  w re  i  i  i i  reve i  e e i er  

r  rr i   i e i r i    e i  re i  i  e e  e i  e e i  
i i   e i

 e e r e  e   re e  i  i e  i re e  e  we r  i e e  
 i e w i e

e vi  i   reve i  e r i   ree w er wi   e e r e

F lte  leme t es

F lte  leme t S -30 -60

A  o t o e s S   SV
A l t o s

 i i
 rve i
 re r
 ri r
 O r
 i i
  r i
 Cranes
 ir r  e i en
 i  si a rs
  an  a er
  r essin

 Presses
 ive in s r
 i er an s
 P as i  an  r er
 e a  in s r
 Ce en  an  n re e
 a eria  an in
 ri es ra i  s a er w r s
 Pe r e i a  in s r
 Power stations
 Marine
 tee

Cata o e   ition 

e  y ss F lte s



182 www sta o en

G

F lte  leme t Te l t

0.00
0.20
0.40
0.60
0.80
1.00
1.20
1.40
1.60
1.80
2.00

0 2 4 6 8 10 12 14 16 18 20

850cst
600cst
500cst
320cst
200cst
100cst
70cst
45cst

 

 l m

  o e to  S  3968

0.00
0.20
0.40
0.60
0.80
1.00
1.20
1.40
1.60
1.80
2.00

0 2 4 6 8 10 12 14 16 18 20

850cst
600cst
500cst
320cst
200cst
100cst
70cst
45cst

 

 l m

  o e to  S  3968

F lte  leme t S -30- -01-  P  V s os ty-G F lte  leme t S -30- A P  V s os ty-G

0.00

0.50

1.00

1.50

2.00

2.50

3.00

3.50

0 2 4 6 8 10 12 14 16 18 20

850cst
600cst
500cst
320cst
200cst
100cst
70cst
45cst

 

 l m

  o e to  S  3968

Element Model SRM-30-H-B SRM-60-H-B SRM-30-E-01-B SRM-60-E-01-B SRM-30-E-03-B SRM-60-E-03-B SRM-30-EA SRM-60-EA

Filter Material Cellulose Cellulose Glass fibre Glass fibre
Polymer Polymer

Filtration EIƂFienF\ ß
2

ß
2

ß
1

ß
1

ß
3

ß
3

ß
5

ß
5

Water Absorption Capacity
150 ml 300 ml

N/A N/A N/A N/A
350 ml 700 ml

5 oz 10 oz 11.8 oz 23.6 oz

Nominal Flow per Element
2,1 l/min 4,2 l/min 2,1 l/min 4,2 l/min 2,1 l/min 4,2 l/min 2,1 l/min 4,2 l/min

.6 GPM 1.2 GPM .6 GPM 1.2 GPM .6 GPM 1.2 GPM .6 GPM 1.2 GPM

Max. Viscosity at Nominal 
Flow Rate

180 cSt 180 cSt 800 cSt 800 cSt 800 cSt 800 cSt 800 cSt 800 cSt

Max. Oil Temperature
+80 °C +80 °C +80 °C +80 °C +80 °C +80 °C +80 °C +80 °C

+176 °F +176 °F +176 °F +176 °F +176 °F +176 °F +176 °F +176 °F

Lenght of Element
300 mm 600 mm 300 mm 600 mm 300 mm 600 mm 300 mm 600 mm

11.8 in 23.6 in 11.8 in 23.6 in 11.8 in 23.6 in 11.8 in 23.6 in

Sealing Material (Standard)
NBR (Buna-N®) and Silicone 
Rubber

NBR (Buna-N®) NBR (Buna-N®) NBR (Buna-N®)

Other Sealing Material Contact STAUFF

Fluid Compatibility:

--Mineral Oils

H, HI, HLP, HVLP OK OK OK OK

-- Biodegradable Oils

HEPG Polethyleneglycol Contact STAUFF

HEES Synthetic ester OK OK OK OK

HETG Vegetable seed oil Contact STAUFF

-- Fire Inhibiting Fluids

HFA emulsions NO OK OK NO

HFC glycol/water solution NO OK OK NO

Contact STAUFF

Approximate Weight
0,8 kg 1,25 kg 1,25 kg 1,25 kg

1.8 lb 2.8 lb 2.8 lb 2.8 lb

l e  y ss F lte s e l eme t leme ts  Ty e S

F lte  leme t S -30- -    s os ty -  
at a ow o   in    PM er e e ent

Actual va
lues

Actual va
lues

V s os ty  St

Actual va
lues

 

F lte  leme t S -30- -03-  P  V s os ty-G

Cata o e   ition 

e  y ss F lte s



www sta o en

G

183

S-1-60- - S-2-60- - S-4-60- -

P o u t es t o  

 O ine i ter nits an e a ie  to ever  i a ina e in stria  a i ation w ere 
ra i  or ri ation s ste s are resent  

n inte rate  otor  nit raws i  o t o  t e tan  i ters it an  s ean oi  a  
into t e s ste  O ine i ter nits an ontin e to wor  even i  t e ain s ste  is not 
in se  e stan ar  ran e o ers i ter nits or reservoirs wit  a a a it  o   to 

    a  

Over t e ears   ste s ave eve o e  onsi era e e erien e in t e ra i  
an  ri ation ar et eanin  s ste s to eve s not revio s  ossi e wit  onventiona  

et o s  

e O   is avai a e wit  one  two or o r i ter o sin s an  in two i erent en t s  
e a i  ow or t e O ine nit oes ro     in      PM at a 

vis osit  etween    t  or t e O  o  an oose severa  i erent otor  
nits  or ore in or ation ease see a e  Or er o e

All l e F lte  Systems e l le t   e  moto s  

T ese u ts e e l o  e s e e ele t  o e  s u l le 

o  o  ous lo t o s

S-1-30- - S-2-30- - S-4-30- -

e F lte s  Ty e S

S le e t see a e   

ou le e t see a e   

Cata o e   ition 

e  y ss F lte s



184 www sta o en

G

e F lte s  Ty e S

 i ensions in   in

me s o s S-1-30- - me s o s S-2-30- -

Cata o e   ition 

e  y ss F lte s

 

 

 

 
 

 
  

  

O t et   P n et   P

 

 

 

 

 

 

 

  

O t et   P n et   P

To  V eTo  V e



www sta o en

G

185

e F lte s  Ty e S

Te l t

me s o s S-4-30- -

OLS-1-30-H-B OLS-2-30-H-B OLS-4-30-H-B

Number of Filter Housings 1 2 4

Nominal Flow
2,1 l/min 4,2 l/min 8,4 l/min

.55 US GPM 1.1 US GPM 2.22 US GPM

Max. Differential Pressure
6,2 bar

90 PSI

Max. Fluid Temperature
+80 ºC

+176 ºF

Max. Housing Pressure
20 bar

290 PSI

Viscosity Range
20 ... 160 cSt
100 ... 750 SUS

Connection Suction Side G3/8 G1/2

Connection Return Side G1/2 G3/4

Hose Diameter 1/2 in (inner diameter) flexible hose

Weight (Including Element)
14 kg 21 kg 39 kg

30.9 lbs 46.3 lbs 86 lbs

Max. System Volume
1350 l 2700 l 5400 l

356 gal 713 gal 1426 gal

Dimensions
H x W x D

428 x 324 x 189 mm 428 x 340 x 312 mm 523 x 494 x 335 mm

16.85 x 12.75 x 7.44 in 16.85 x 13.38 x 12.28 in 20.59 x 19.44 x 13.18 in

Connection for Online Particle 
Counter

STAUFF Test (M16 x 2)

Pump Gear pump

Motor See page 188 for electric motor details

Connection Oil-Analysis:
P1 Ƃlter inlet side
P2 Ƃlter outlet side

Test connector (M16 x 2) Red
Test connector (M16 x 2) Yellow

 i ensions in   in

To  V e

 

Cata o e   ition 

e  y ss F lte s

n et   P

O t et 

 

 



186 www sta o en

G

e F lte s  Ty e S

 i ensions in   in

me s o s S-2-60- -me s o s S-1-60- -

Cata o e   ition 

e  y ss F lte s

 

  

O t et   P n et   P

 
 

 

  

 
  

O t et   P n et   P

 

 

 

To  V e

 

 

 

 

To  V e



www sta o en

G

187

 i ensions in   in

OLS-1-60-H-B OLS-2-60-H-B OLS-4-60-H-B

Number of Filter Housings 1 2 4

Nominal Flow
4,2 l/min 8,4 l/min 17 l/min

1.1 US GPM 2.22 US GPM 4.5 US GPM

Max. Differential Pressure
6,2 bar

90 PSI

Max. Fluid Temperature
+80 ºC

+176 ºF

Max. Housing Pressure
20 bar

290 PSI

Viscosity Range
20 ... 160 cSt

100 ... 750 SUS

Connection Suction Side G1/2 G1/2 G3/4

Connection Return Side G1/2 G3/4

Hose Diameter 1/2 in (inner diameter) flexible hose

Weight (Including Element)
18 kg 30 kg 61 kg

39.7 lbs 66.1 lbs 134.5 lbs

Max. System Volume
2700 l 5400 l 10800 l

713 gal 1426 gal 2853 gal

Dimensions
H x W x D

734 x 324 x 189 mm 720 x 340 x 312 mm 820 x 494 x 145 mm

28.66 x 13.19 x 7.48 in 28.90 x 13.39 x 12.72 in 32.28 x 19.44 x 5.70 in

Connection for Online Particle 
Counter

STAUFF Test (M16 x 2)

Pump Gear pump

Motor See page 188 for electric motor details

Connection Oil-Analysis:
P1 Ƃlter inlet side
P2 Ƃlter outlet side

Test connector (M16 x 2) Red
Test connector (M16 x 2) Yellow

Te l t  

me s o s S-4-60- -

e F lte s  Ty e S

To  V e

Cata o e   ition 

e  y ss F lte s

 

O t et n et   P

 

 



188 www sta o en

G

� Type
 i ter e ent eries   SRM 

� Filter Element Length

� Filter Material and Micron Rating

       Ot er i ron ratin s on re est

� Sealing Material

� Clogging Indicator

� Mounting Options

� Sealing Material

	 E-motor Options


 Pump Options
 

� Type
 O ine i ter nit OLS

 or in stria  a i ations

� Housing ConƂguration
 

� Filter Element Length

 
� Filter Material and Micron Rating

       Ot er i ron ratin s on re est

F lte  leme ts  Ty e SRM

in e o sin 1

win o sin 2

a r e o sin 4

Material Micron  
rating μm 

Code

Ce ose stan ar H

nor  ass re 1 -01

nor  ass re -03

nor  ass re 5 -05

nor  ass re 1 -10

nor  ass re -20

nor  ass re an  o er  
water a sor tion A-03

nor  ass re an  o er  
water a sor tion 5 A-05

 na  stan ar
M iton V

Motor Type Code

  C  5   t ree ases  1  r in 
55   C    t ree ases  1  r in

5   an    stan ar
A

  C  5   sin e ase  1  r in G

11   C  5   sin e ase I

11   C    sin e ase J

  C    sin e ase  1  r in H

ote  e ia  otors on re est

50 Hz Motor Standard in Code

1  rev O 1 00

15 rev O 1 10

1 rev O 20

 rev 30

11  rev O 40

 rev 50

60 Hz motor Standard in Code

1 5 rev O 1 01

5 rev O 1 11

5  rev O 21

 rev 31

1  rev O 41

is a  o in  in i ator V

o o tions stan ar 0
Motor   ri t si e o nte 1

Motor   e t si e o nte 2

Te l t  o  le t  Moto s use  o  OLS F lte s or air riven otors onta t 

E-motor Standard ConƂguration Description
Power  

in kW

Power  

in HP

Voltage 

50 Hz

Amp 

50 Hz

RPM 

50 Hz

Voltage  

60 Hz

Amp 

60 Hz

RPM  

60 Hz

I, J O 1    O    O 1 M  5 P 11  M O 1 11   C 11   C
G, H O 1    O    O 1 M  5 P  M O 1   C 1,57   C 1,
A O 1    O    O 1 M  5 P P  M O ,1   C 1,   , 5   C ,   ,5
A O    O M  5 P P  M O ,   C 1, 5  , 5 1 5   C 1, 7  , 5 17
I, J O    O    O M71 5 P 11  M O , 7 5 11   C ,1 11   C 5,
G, H O    O    O M71 5 P  M O , 7 5   C ,   C , 5
A O M71 5 P P  M O , 7 5   C 1,   1,1 5   C 1,   ,

 na  stan ar
M iton V

O e F lte  Hous s  om lete F lte s  Ty e OLS

��
� � � 	��

OLS   -   1   -   30   -   H   -      -   A   -   01   -   V   -   O

� � � �

   11 1 in 30

    in 60

   11 1 in 30

    in 60

Cata o e   ition 

O e  y ss F lte s

�

SRM   -   30   -   H   -         

� Design Code
 On  or in or ation X

Material
Micron  
rating μm Code

Ce ose stan ar ,5 H

nor  ass re 1 -01

nor  ass re -03

nor  ass re 5 -05

nor  ass re 1 -10

nor  ass re -20

nor  ass re an  o er  
water a sor tion A-03

nor  ass re an  o er  
water a sor tion 5 A-05



www sta o en 1

G

189

P o u t es t o

 ste s nits are ara teri e   t eir e tre e  e i ient i ter e e ents w i  are 
rate  to 5 i ron  e ia  esi ne  or in stria  ra i  insta ations t e  O ine 
i ters are avai a e in sin e or o e en t  on i rations  e O ine i ter nits an easi  
e o nte  to new an  e istin  ra i  insta ations   eans o  an inte rate  otor  
nit an  an O ine i ter, t e oi  is e  ro  t e reservoir t ro  t e i ter nit an  a ter 
i terin  t e oi  is t en ret rne  to t e tan

o om l

e ra i  ar et a e ts t at   o  e ani a  ai res are a se   onta ination 
in t e s ste  e  ater sor in  O ine i ters atta  t is onta ination at so r e 
an  in a ition to so i  arti es, t ese i ters are a so a a e o  re ovin  ar e antities o  
water ro  t e oi  is revents t e ata ti  rea tion o  water an  so i  arti e onta ina
tion, res tin  in e ten e  sea e oi  i e  

e a i ation o   i ters res ts in ower o onent ai re rates, ess own ti e an  
ess s ste  aintenan e

te  A so

 ater sor in  i ters are O ine nits t at se s e ia  water a sor in  in On 
i ter e ents as a re i ter  e i  is e  t ro  t e re i ter w i  re oves 
ost water an  ar er so i  onta ination, in t e se on  sta e t e i  asses t ro  t e 

 Mi ro i ter w ere ina  water re ova  ta es a e as we  as so i  re ova  own to 
,5 i ron

n re ent ears  ste s ave eve o e  a reat ea  o  e erien e in eanin  an  
r in  ra i  an  ri ation s ste s in t e o owin  ar ets

 tee  in str
 Mariti e in str
 Petro e i a  in str
 Pa er in str

A t es

 tre e  ean oi  e to t e i  i tration e i ien  ß ,5  , ß   
 Prevention o  anne  or in   ra ia  i tration ire tion
 n rease  ow a a it
 n rease  irt o  a a it
 ar e water o in  a a it
 Co a t an  eas aintenan e esi n
 on er sa e i e or oi  an  o onents

te  A so  O e F lte   Ty e OLS

Cata o e   ition 

O e  y ss F lte s



190 www sta o en 1

G

te  A so  O e F lte   Ty e OLS

 i ensions in   in

me s o s OLS -1-60me s o s OLS -1-30 

Cata o e   ition 

O e  y ss F lte s

 ,5 

1
 

7

1
 

1
 5

1 
15

7

O t et 1   P n et   P

7  1

1  7

17  

1
 1

 ,5 

7
 

7
7

1
 

1
 

7

1
 5

To  V eTo  V e

O t et 1   P n et 1   P

7  1

1  7

17  

1
 1



www sta o en 1 1

G

191

te  A so  O e F lte   Ty e OLS

me s o s OLS -2-60me s o s OLS -2-30 

 i ensions in   in

Cata o e   ition 

O e  y ss F lte s

1
 

7

1
 

1 
15

7

O t et 1   P n et 1   P

To  V e

5 5 1 5

 1

 1 5

1
 1

To  V e

5 5 1 5

 1

 1 5

1
 1

7
 

7
7

 ,5 

1
 

7

1
 

O t et 1   P n et 1   P



192 www sta o en 1

G

te  A so  O e F lte   Ty e OLS

me s o s OLS -4-60me s o s OLS -4-30 

 i ensions in   in

Cata o e   ition 

O e  y ss F lte s

To  V e

5
 

1
5

O t et n et 1   P

5
1 

51

 1

 
5

O t et n et   P

To  V e

 1

1 1



www sta o en 1

G

193

Actual values

Actual values

Te l t  OLS

te  so  s -o  lte  eleme t

ra i
s ste

Press re 
i ter

et rn ine
i ter

P  wit  
varia e ow

i ter wit  ass

O i ter

Conne tions or 
arti e o nter

System m le 

S em t  O l e F lt t o  l  te  A so t o

 

V s os ty  St

7

5

1

7 5 55 7 1 5 155 1 5 5 5

  V s os ty o  OLS -F lte

te  A so  O e F lte   Ty e OLS

OLSW-1-30-H-B OLSW-1-60-H-B OLSW-2-30-H-B OLSW-2-60-H-B OLSW-4-30-H-B OLSW-4-60-H-B

Number of Filter Housings 1 1 2 2 4 4

Nominal Flow
2,1 l/min 4,2 l/min 4,2 l/min 8,4 l/min 8,4 l/min 16,8 l/min

.6 US GPM 1.1 US GPM 1.1 US GPM 2.2 US GPM 2.2 US GPM 4.4 US GPM

Max. Differential Pressure
6,2 bar over the filter element without backpressure

90 PSI over the filter element without backpressure

Water Absorbing Capacity
794 ml 1144 ml 1144 ml 1844 ml 1844 ml 3244 ml

25 oz. 38 oz. 38 oz. 62 oz. 62 oz. 109 oz.

Max. Fluid Temperature
+80 °C

+176 °F

Max. Housing Pressure
20 bar

290 PSI

Viscosity Range
20 ... 160 cSt

100 ... 750 SUS

Connection Suction Side G3/8 G1/2 G1/2 G1/2 G1/2 G3/4

Connection Return Side G1/2 G1/2 G1/2 G1/2 G3/4 G3/4

Hose Diameter 1/2 in (inner diameter) flexible hose
3/4 in (inner diameter) 
flexible hose

Weight (including Element)
18 kg 22 kg 25 kg 34 kg 43 kg 65 kg 

39.7 Ibs 48.5 Ibs 55. 1 Ibs 75.0 Ibs 94.8 Ibs 143.3 Ibs

Max. System Volume
1350 l 2700 l 2700 l 5400 l 5400 l 10800 l

356 gal 713 gal 713 gal 1427 gal 1427 gal 2853 gal

Dimensions
H x B x L

401 x 379 x 313 mm 706 x 379 x 313 mm 401 x 545 x 313 mm 706 x 545 x 313 mm 540 x 339 x 521 mm 928 x 341 x 494 mm

15.78 x 14.92 x 12.32 in 27.79 x 14.92 x 12.32 in 15.78 x 21.45 x 12.32 in 27.79 x 21.45 x 12.32 in 21.25 x 13.34 x 20.51 in 36.53 x 13.42 x 19.44 in

Pump Gear pump

Connection Oil-Analysis:
P1 Ƃlter inlet side
P2 Ƃlter outlet side

Test connector (M16 x 2) Red
Test connector (M16 x 2) Yellow

Cata o e   ition 

O e  y ss F lte s



194 www sta o en 1

G

� Sealing Material

	 E-motor Options


 Pump Options
 

� Clogging Indicator

� Mounting Options
 
 
� Pre-Filter Elements

� Type
 O ine i ter nit in  water a sor tion OLSW

 or in stria  a i ations

� Housing ConƂguration

 
� Filter Element Length

� Filter Material and Micron Rating

W te  A so  O e F lte  Hous s  om lete F lte s  Ty e OLSW

Water absorption element

7 1  1  i ron water a sor in ,  
a a it    water A

Pre-Ƃlter elements (particles)

wit o t re ter e e ent 0
7 M  inor ani  ass er, 1 i ron  
7 M  inor ani  ass re,  i ron C

7 7 M  inor ani  ass re,  i ron D

7 1 M  inor ani  ass re, 1  i ron
7 M  inor ani  ass re, 5 i ron F

7 1 ter a er, 1  i ron G

711 ter a er, 5 i ron H

7 1 wire es , 1 5 i ron J

 na  stan ar
M iton V

Motor Type Code

  C, 5  , t ree ases, 1  r in
55   C,  , t ree ases, 1  r in  

5   an    stan ar
A

  C, 5  , sin e ase, 1  r in G

11   C, 5  , sin e ase I

11   C,  , sin e ase J

ote  e ia  otors on re est

is a  o in  in i ator V

o o tions stan ar 0

Material Micron  
rating μm 

Code

Ce ose stan ar ,5 H

nor  ass re an  o er  
water a sor tion 5 A

50 Hz Motor Standard in Code

1,  rev O 1 00

,15 rev O 1 10

,1 rev O 20

11,  rev O 40

60 Hz Motor Standard in Code

1, 5 rev O 1 01

,5 rev O 1 11

5,  rev O 21

1  rev O 41

P e-F lte  leme ts  Ty e SF-67F lte  leme ts  Ty e SRM

� Pre-Filter Elements
 

SF-6721-W

� Type
 i ter e ent eries SRM 

� Filter Element Length

� Filter Material and Micron Rating 

� Sealing Material 
 na  stan ar

M iton V

Material Micron  
rating μm 

Code

Ce ose stan ar ,5 H

nor  ass re an  o er  
water a sor tion 5 A

��
� � � 	�� �

OLSW   -   1   -   30   -   H   -      -   A   -   01   -   V   -   O   -   A

� � � �

in e o sin 1

win o sin 2

a r e o sin 4

   11 1 in 30

    in 60

   11 1 in 30

    in 60

Cata o e   ition 

O e  y ss F lte s

� Design Code
 On  or in or ation X

�

SRM  -  30  -  H  -      X

Water absorption element

7 1  1  i ron water a sor in ,  
a a it    water A

Pre-Ƃlter elements (particles)

wit o t re ter e e ent 0
7 M  inor ani  ass er, 1 i ron  
7 M  inor ani  ass re,  i ron C

7 7 M  inor ani  ass re,  i ron D

7 1 M  inor ani  ass re, 1  i ron
7 M  inor ani  ass re, 5 i ron F

7 1 ter a er, 1  i ron G

711 ter a er, 5 i ron H

7 1 wire es , 1 5 i ron J



www sta o en 1 5

G

195

P o u t Des t o

 ste  nits are ara teri e   t eir re eatin  nit an  e tre e  e i ient i ter 
e e ents wit  a ineness o  ,5 i ron

e ia  esi ne  or in stria  ra i  insta ations, t e  O ine i ters are 
avai a e in sin e or ti e o sin  on i rations  e O ine i ter nits an easi  
e o nte  to new an  e istin  ra i  insta ations

 eans o  an inte rate  otor  nit an  an O ine i ter, t e oi  is e  ro  t e 
reservoir t ro  t e i ter nit an  a ter i terin  t e oi  is t en ret rne  to t e tan

o om l 

e ra i  ar et a e ts t at 7   o  t e e ani a  ai res are a se   
onta ination in t e s ste  e  O ine i ters atta  t is onta ination at t e 

so r e  n a ition to so i  arti es, t ese i ters are a so a a e o  re ovin  water ro  t e 
oi  is revents t e ata ti  rea tion o  water an  so i  arti e onta ination, res tin  in 
e ten e  sa e o  i e  

e a i ation o   i ters res ts in ower o onent ai re rates, ess own ti e an  
ess s ste  aintenan e

n re ent ears  ste s ave eve o e  a reat ea  o  e erien e in eanin  an  
r in  ra i  an  ri ation s ste s in t e o owin  ar ets

tee  in str
Mariti e in str
Petro e i a  in str
Pa er in str

He te  O l e F lte s 

e e e tri  re eatin  ens res t at t e o  an or i  vis osit  i  is ro t to a 
te erat re wit  a s ita e i tration vis osit  O ine i ters wit  re eatin  an e a ie  
to new or e istin  insta ations  e inte rate  otor o ination raws i  ro  t e 
reservoir, s it t ro  a eatin  e e ent, i ters t e i  an  ret rns it to t e reservoir  

A t es

tre e  ean oi  e to t e i  i tration e i ien  ß ,5  , ß  
Prevention o  anne  or in   ra ia  i tration ire tion
n rease  ow a a it  
n rease  irt o in  a a it
ar e water o in  a a it

Co a t an  eas  aintenan e esi n
on er sa e i e or oi  an  o onents

He te  O e F lte s  Ty e OLSH

Cata o e   ition 

O e  y ss F lte s



196 www sta o en 1

G

He te  O e F lte s  Ty e OLSH

 i ensions in   in

D me s o s OLSH-1-60-H-D me s o s OLSH-1-30-H-   

Cata o e   ition 

O e  y ss F lte s

5
7 

1
 

7

1
 

 ,5 

O t et 1   P n et   P

75 1 7

 1

 1 5

1
 7

To  V e To  V e

75 1 7

 1

 1 5

1
 7

 
1

 ,5 

1
 

1
 

7

O t et 1   P n et 1   P



www sta o en 1 7

G

197

Te l D t  He te  O l e F lte s 

OLSH-1-30-H-B OLSH-1-60-H-B

Number of Filter Housings 1 1

Nominal Flow
2,1 l/min 4,2 l/min

.6 US GPM 1.2 US GPM

Max. Differential Pressure
6,2 bar

90 PSI

Max. Fluid Temperature
+80 °C

+176 °F

Max. Housing Pressure
20 bar

290 PSI

Heater Capacity 2 kW

Connection Suction Side G3/8 G1/2

Connection Return Side G1/2 G1/2

Hose Diameter 1/2 in (inner diameter) flexible hose 3/4 in (inner diameter) flexible hose

Weight (including Element)
24 kg 28 kg

44 lbs 62 lbs

Max. System Volume
1350 l 2700 l

356 gal 713 gal

Dimensions
H x W x D

567 x 475 x 188 mm 869 x 475 x 188 mm

22.32 x 18.70 x 7.40 in 34.21 x 18.70 x 7.40 in

Connection for Online Particle 
Counter

STAUFF Test (M16 x 2) STAUFF Test (M16 x 2)

Pump Gear Pump

Motor See page 196 for electric motor details

Connection Oil-Analysis:
P1 Ƃlter inlet side
P2 Ƃlter outlet side

Test connector (M16 x 2) Red
Test connector (M16 x 2) Yellow

STAUFF He t  e y Cu e

in  in e Pass

 
ea

te
r i

n 
C

ow in e Pass in in

i ter wit  ani o
an  ass va ve

Conne tions or an
in ine arti e

o nter

Heater with
inte rate
ther ostat

He te  U t Hy ul  S em t

He te  O e F lte s  Ty e OLSH

Cata o e   ition 

O e  y ss F lte s



198 www sta o en 1

G

� Type
 i ter e ent eries SRM 

� Filter Element Length

� Filter Material and Micron Rating � Sealing Material

� Sealing Material

 	 E-Motor Options


 Pump Options
 

� Clogging Indicator

� Mounting Options
 
 

� Type
 Heate  O ine i ter nit OLSH 

 or in stria  a i ations

� Housing ConƂguration

 
� Filter Element Length

� Filter Material

Type Code

  C, 5  H , three hases, 1  r in
55   C,  H , three hases, 1  r in

5  H  an   H  stan ar
A

  C, 5  H , sin e hase G

  C, 5  H , three hases, P 5 A-IP65

  C,  H , sin e hase, 1  r in H

ote  e ia  otors on re est

Standard for 50 Hz Motor Standard for Code

1,  rev O H 1 H 00

,15 rev O H 1 H 10

1    rev 60

60 Hz Motor Standard in Code

1, 5   rev O H 1 H 01

,5   rev O H 1 H 11

is a  o in  in i ator V

He te  O e F lte  Hous s  Com lete F lte s  Ty e OLSH

F lte  leme ts  Ty e SRM

 na  stan ar
M iton V

 na  stan ar
M iton V

o o tions stan ar 0

Material Micron  
Rating μm 

Code

Ce ose stan ar ,5 H

nor  ass re 1 -01

nor  ass re -03

nor  ass re 5 -05

nor  ass re 1 -10

nor  ass re -20

nor  ass re an  o er  
water a sor tion 5 A

Material Micron  
rating μm 

Code

Ce ose stan ar ,5 H

nor  ass re 1 -01

nor  ass re -03

nor  ass re 5 -05

nor  ass re 1 -10

nor  ass re -20

nor  ass re an  o er  
water a sor tion 5 A

OLSH   -   1   -   30   -   H   -      -   A   -   00   -   V   -   O

in e ho sin 1

   11 1 in 30

    in 60

   11 1 in 30

    in 60

Cata o e   ition 

O e  y ss F lte s

� Design Code
 On  or in or ation X

SRM   -   30   -   H   -         X



www sta o en 1

G

199

y ss F lte s  Ty e PS

Des t o

 P  ass i ter an e se  or O M irst it a i ations as we  as or 
retro ittin  he i tration is one in a ass on i ration ro  the ain h ra i  s ste

he  P  i ter ste s are avai a e with one i ter ho sin  P 1 , a i  
ow ,1 in    PM  or with two i ter ho sin s P , a i  ow ,  in  

1 1  PM  at a vis osit  etween   1  t  he  ass i ter nits are 
es e ia  esi ne  or o i e a i ations in h ra i  an or trans ission s ste s

n the a sen e o  a e  s ste , the oi  is rawn ro  the ain s ste   eans o  a
s e ia  esi ne  an  inte rate  ow va ve  he a o nt o  oi  e tra te  at an  ti e 
is insi ni i ant there ore ens rin  that it wi  not a e t the wor in  o  the ain s ste  
Most o on  se  io e ra a e oi s in the o i e se tor are s ita e or i tration 
with  i ter e ents

 ste s have een a ie  on a wi e ran e o  o i e h ra i  a hiner ,
eanin  i s to eve s not revio s  ossi e with onventiona  i tration etho s, 

res tin  in ra ati  in reases in o onent i e

M te l

Ho sin no i e  ini

D e e t l P essu e

Ma  ,  ar   P

Tem e tu e R e

Ma   C  17   e ia te erat re

Me  Com t l ty

Minera  an  ri ation oi s, others on re est 

O t o s  A esso es o ly o  PS

Clo  I to s

is a  o in  in i ators

Valves

vai a e with ow ontro  va ve 

Cata o e   ition 

O e a  y ass F lte s

Ty e PS

ass i ter nits are es e ia  esi ne  or o i e 
a i ations in h ra i  an or trans ission s ste s

o s e ia  otor  nit is re ire

Ho sin  ress re a   ar   P
o ina  ow rate a  ,  in  1 1  PM
ste  vo e   a  1 5    5  a

Conne tions    1 , 1
Press re ran e   1    ar  1    P

Ty e PS

ass i ter nits are es e ia  esi ne  or o i e 
a i ations in h ra i  an or trans ission s ste s

o s e ia  otor  nit is re ire

Ho sin  ress re a   ar   P
o ina  ow rate a  ,  in  1 1  PM
ste  vo e   a  7    71  a

Conne tions    1 , 1
Press re ran e   1    ar  1    P



200 www sta o en

G

 i ensions in   in

D me s o s PS-2-30-H-D me s o s PS-1-30-H-

y ass F lte s  Ty e PS

Cata o e   ition 

O e a  y ass F lte s

To  V e To  V e

1
 1

1

 ,5 

O t et 1   P n et 1   P

 
1

 

1
 

7

17
 7

1  7

17  

 ,5 

1
 1

1

1
 

1
 

7

O t et 1   P n et 1   P

 1

 1 5

17
 7



www sta o en 1

G

201

� Filter Material and Micron Rating

� Sealing Material 

	 Clogging Indicator


 Valve Options 

� Mounting Options

� Type
 ass i ter nit PS

 or o i e a i ations

� Housing ConƂguration

� Filter Element Length

� Type
 i ter e ent eries SRM 

� Filter Element Length

� Filter Material and Micron Rating 

 

� Sealing Material 

 

y ass F lte s  Ty e PS

Te al Data PS

BPS-1-30-H-B BPS-2-30-H-B

Number of Filter Housings 1 2

Nominal Flow Rate
2,1 l/min 4,2 l/min

.6 US GPM 1.1 US GPM

Max. Differential Pressure
6,2 bar over the filter element without back pressure

90 PSI over the filter element without back pressure

Max. Fluid Temperature
+80 °C

+176 °F

Max. Housing Pressure
20 bar

290 PSI

Viscosity Range
20 ... 160 cSt

100 ... 750 SUS

Connection Pressure Side G1/4

Connection Return Side G1/2

Hose Diameter 3/8 ... 1/2 in (inner diameter) flexible hose

Weight (including Element)
6 kg 13 kg

13.2 lbs 28.7 lbs

Max. System Volume
750 l 1500 l

200 gal 400 gal

Dimensions
H x W x D

410 x 190 x 178 mm 410 x 340 x 178 mm

16.14 x 7.48 x 7.00 in 16.14 x 13.38 x 7.00 in

Connection for On-Line Particle 
Counter

STAUFF Test (M16 x 2)

Pressure Range
12 ... 420 bar

180 ... 6200 PSI

Connection Oil-Analysis:
P1 Ƃlter inlet side
P2 Ƃlter outlet side

Test connector (M16 x 2) Red
Test connector (M16 x 2) Yellow

y ass F lte  Hous s  Com lete F lte s  Ty e PS

o ra et stan ar 0
ith stan ar  oot   hea  o ntin  ra et 1

ith  hea  o ntin  on  ra et 2

ith stan ar  O  wa  o ntin  ra et 3

ith ow ontro  va ve stan ar 0
itho t ow ontro  va ve 1

PS   -   1   -   30   -   H   -      -   V   -   O   -   O

F lte  leme ts  Ty e SRM

SRM   -   30   -   H   -         X

   11 1 in 30

 na  stan ar
M iton V

 na  stan ar
M iton V

is a  o in  in i ator V
Material Micron  

Rating μm 
Code

Ce ose stan ar ,5 H

nor  ass re 1 -01

nor  ass re -03

nor  ass re 5 -05

nor  ass re 1 -10

nor  ass re -20

nor  ass re an  o er  
water a sor tion 5 A

Material Micron  
Rating μm 

Code

Ce ose stan ar ,5 H

nor  ass re 1 -01

nor  ass re -03

nor  ass re 5 -05

nor  ass re 1 -10

nor  ass re -20

nor  ass re an  o er  
water a sor tion 5 A

   11 1 in 30

in e ho sin 1

win ho sin 2

Cata o e   ition 

O e a  y ass F lte s

� Design Code
 On  or in or ation X



202 www sta o en

G

O e F lte  OLS Hy aul  Sym ol

F lte  leme t SRM-30-H    v s os ty - a
at a ow o  ,1 in    PM er e e ent

H ra i
s ste

Prote tion 
i ter

P  with 
varia e ow

M

Mani o  with i ter an  ass

H ra i
s ste

Prote tion 
i ter

ow
ontro

valve

1    
    ar
18   
P

Mani ol  with ilter an  ass

Conne tion or online 
arti le o nter

Conne tion or online 
arti le o nter

Actual va
lues

Flo  C a a te st s O l e F lte  OLS t
F lte  leme t SRM-30-H-  at a i  vis osit

Flo   l mFlo   l m
1 1 1 1 1 1 1 5 1 1 7 1 8 1 1 51 1 1 1 1 1 1 5 1 1 7 1 8 1 1 5

 
a

1

9

8

7

5

1

1

9

8

7

5

1

y ass F lte  PS Hy aul  Sym ol

y ass a  O e F lte s  Ty e OLS  PS

V s os ty  St

Actual va
lues

 
a

 
a

Flo  C a a te st s y ass F lte  PS t
F lte  leme t SRM-30-H- at a i  vis osit

Ac ual va
lues

Actual va
lues

Actual va
lues

Catalo e 9  ition 

O e a  y ass F lte s



www sta o 9 en

G

203

O e a  y ass F lte s

Catalo e 9  ition 


